THEORY OF COMPUTATION - Integrated M.Tech II

Assignment - 2 Submit by March 28th, 2018

e Take the alphabet as {a, b} if not specified.

e Find a context-free grammar generating the given language. Explain the logic
behind each rule.

e Construct a Push-down Automaton that recognizes the language

e Trace your CFG as well as PDA on a typical and atypical example.

16MCMEO1 N
{aV ¥ j=iorj=k, i,j,k>0}
16MCME02
{a™b" U a™b*™ : n > 0}
16MCME03 N
{a'v’ 1 i < 2j, i,j >0}
16MCME04 N
{a'V*i<jori>k, i,jk>0}
16MCME09 o
{a't’ 1i/2 < j <3i/2, i,j > 0}
16MCME10 N
{a'V ¥ i #j+ k)
16MCME11 N
{a'Vc*:j=i+k, ijk>0}
16MCME13

{w €{a,b}" : ng(w) = 2npw}
16MCME14 {w#z|w? is a substring of z; w, = € {a,b}*}
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{a'V'cF :j £ i+ k)



